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Question 1.Select the related word/letters/number from the given alternatives.
&3 I fashedl & O Heleud Use/3aRl/aEdr # giav]

Coins : Mint :: Bricks : ?

T : ThaTe s §T: ?

Options:

1) Kiln

EEl

2) Foundry

oIS

fory
3) Cementary

4) Finance

LY
Correct Answer: Kiln

oTer
Candidate Answer: Kiln

Question 2.Select the related word/letters/number from the given alternatives.
&3 I faehedl & & Heletrd Aee/3MaRI/TEAT i giav|

MOLTU : ? :: HOPE : IPQF

Options:

1) MPNUV

2) NPMUV

3) NPMVU

4) MPNVU
Correct Answer: NPMUV
Candidate Answer: NPMUV

Question 3.Select the related word/letters/number from the given alternatives.
3 I faehodl & & Heleerd e/ 3aR/EEdm 1 giav|

456:15::789:7?

Options:

1) 22

2)24

3) 26

4) 28
Correct Answer: 24
Candidate Answer: 24

Question 4.

Enu kA fallawusing annnckinne
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Find the odd word/letters/number pair from the given alternatives.
U a1v faenedl # & fawer eree/ HEY/3ER/L7A YiaT|

Options:

1) TOP

2) COP

3) MOP

4) JOP
Correct Answer: JOP
Candidate Answer: MOP

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.
few a1e fashedt # & fawa eree/ HE&a/3mR/ LA AT

Options:

1) BDF

2) NQS

3) TVX

4) HIL

Correct Answer: NQS
Candidate Answer: NQS

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.
feu 91T faehoat # & fawa 2se/ TEa/38R/g7H T

Options:

1)(3,12)

2)(2,6)

3)(6,42)

4) (5, 35)
Correct Answer: (5, 35)
Candidate Answer: (5, 35)

Question 7.Arrange the following words as per order in the dictionary

ArAfaTE eel I ereehier # feT 10 %A & 37aR faf@v|

1. Assassination 2. Association 3. Assimilate 4. Assimuthual
Options:
1)1,2,3,4
2)1,3,2,4
3)1,3,4,2

4)23,14
Correct Answer: 1,3,4,2
Candidate Answer: 1,3,4,2

Question 8.Choose the correct alternative from the given ones that will complete the below series



U a1v fenedl # & HEY faehoq IIAT S 3gshd T QU AT

4) 0/C
Correct Answer: O/C
Candidate Answer: O/C

Question 9.Find the wrong number in the series.

& 1 H@ell & A ol HEAT A Hifor|
225, 206, 188, 176, 165, 158, 153
Options:

1) 225

2) 188
3) 176

4) 153
Correct Answer: 188
Candidate Answer: 188

Question 10.The sum of the ages of father and a son presently is 70 years. After 10 years, the son's age is exactly half that of the father. What are their ages now?

ue TR 3R 30 OF Y 31 AT 70 FN 2| 10 Wi qe; T B 397 AT Y 397 F 3med gt | v 3wy 39 e 2
Options:

1) 45 years, 25 years

45 g, 25 g

2) 50 years, 20 years

50 g%, 20 T

3) 47 years, 23 years

47 9¥, 23 a¢

4) 50 years, 25 years

50 a¥, 25 ¥

Correct Answer: 50 years, 20 years

50 @Y, 20 ¥

Candidate Answer: 50 years, 20 years
50 99, 20 g%

Question 11.1f the third day of @ month is Tuesday, which of the following would be the 25th day of that month?

Ife; et AT 1 T et FeTerar g af 39 AL &7 254t foeT isT-a1 grem ?
Options:

1) Tuesday

HIGAR

2) Monday

HHAIR

3) Wednesday

FUAR

4) Sunday

e

Correct Answer: Monday

Candidate Answer: Wednesday
EUEIRS

)

Question 12.From the given words, select the word which cannot be formed using the letters of the given word.

frfafd faedt # & ag eeg g S R 31w 2reg & 31aR &7 FeT FF G AT S HhAT |
CIRCUMSTANCES

Options:
1) DISTANCE

2) STANCE



3) MUSIC

4) CIRCUS
Correct Answer: DISTANCE
Candidate Answer: DISTANCE

Question 13.If BUDDHISM is coded as DWFFIKUO then CHRISTIAN will be coded as

Ffe Ueh 15 # 'BUDDHISM' & 'DWFFIKUO' foreT Siar €, af 38 &g & 'CHRISTIAN' &t &rT fer@r srrem ?

Options:
1) EITJUVKBP

2) EJTKUVICO
3) EJTKVUICP

4) EJTKUVKCP
Correct Answer: EJTKUVKCP
Candidate Answer: EJTKUVKCP

Question 14.Some equations are solved on the basis of certain system. Find out the correct answer for unsolved equation on that basis:

FT GHIHOT T Teh AT JoTTell & 3MUR 9T T nam e &1 36 3R 9T 38 G107 7 T cal 9d18T]
2-fx5x8:584,7x3x9=397,9x7x3=?

Options:
1) 397
2) 793
3) 973

4) 739

Correct Answer: 739

Candidate Answer: 739

Question 15.If - means + , + means x , + means - , X means +, then which of the following equations is correct?
I - FIATATE =, + P HATATE X, + B HATA ¢ - , X T HAAS & +, o) AeAtai@d & & ler-ar geheor ggr g ?
Options:

1)43x7+5+4-8=25

2)48 +5+8x10-2=03

3)36x4-12+5+3=420

4)42 +5+6x8-3=28

Correct Answer: 48 -5 +8x10-2 =03

Candidate Answer: 48 - 5+8x10-2 =03

Question 16.Find the missing number from the given response.

u arv fewedl # & ofcd Fear A R ?

7 3 2

6
2|1|5
69 |91 | ?

Options:
1) 58

2) 65
3) 64

4) 51
Correct Answer: 65
Candidate Answer: 65



Question 17.Facing the East, Rahul turned left and walked 10m, then he turned to his left again and walked 10m. He then turned towards his right and went straight
to cover 25m. In which direction is he from his starting point?

gﬁwmﬁ@n@mm@m 10 #Y. =refT, Y a8 ST 3R 731 AR 10 #Y. =er| Y a8 3= it 3R 7737 3R A 25 A 7ol 31 g8 IR Seg & ha
THE?

Options:

1) North-West

3ca- giRaH

2) North-East

3ooR- qd

3) South-West

EfeyoT- ufRas

4) South-East

Correct Answer: North-West
3ccR- TiREH

Candidate Answer: North-East
3cal- @

LN

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Laugh and the world will laugh with you.

Assumptions:

1. People generally laugh.

II. Laughter symbolises happiness.

RFaaa a9l # U a1 g aerae ol 7 B, Forwes 3 & fvsensl/Aearad, 131 I ey 7137 €| 3moet TaR et § 36 aeFe Oed € 9 9% A o aeat &
BT gt gXar &Yl 3Rt ol e § o fqw arv garaey 7 & Fi-a1 ARaa v & @8 forsed/Arerar fRerer o awar g ?

aeFred : g 3R gferar qrgr ary g4e

HAIET 1. 3T 31 dR 9 g9 £

AT 2. §6i ey 7 e 1

Options:

1) Only I'is an assumption

Fae fasad [ 9a 2l

2) Only IT is an assumption

aor sy I HEr 2l

3) Both I and II are assumptions
2t s 13k maEdr 1

4) Neither I nor II is an assumption

7 o forsene 131K &7 &) sy T EdY &1

Correct Answer: Neither I nor II is an assumption

7 o forsene 131K &7 &) sy T EdY 81

Candidate Answer: Only II is an assumption

Faor fosay I aEr gl

Question 19.How many triangles are there in the given figure?

& 18 Ry 3% Rt AT 2

Options:
1) 24

2) 28
3) 36

4) 32
Correct Answer: 36
Candidate Answer: 36

Question 20.Identify the diagram that best represents the relationship among classes given below:
ELEPHANTS, WOLVES, ANIMALS

g NG AT 3 A Rw 7w qaif & e Fwer H1EE AT e g
Options:
1)



Correct Answer:

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

HlT-HT SocX 3MTehfer TeaT 3MThfet & i i qur el 2

S

?
N
)

-
2)



IR

Correct Answer:

na

Candidate Answer:

D,

A

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 91§ 3ea¥ It A § 38 ISl A glaw e ve el Bk

Options:

3)




4)

Correct Answer:

.

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

mﬂmﬁﬁwmﬁm%mmﬂwmaﬁmﬁ,mam@aﬁa;magmmfﬁﬁﬁﬁm‘s’avm
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Correct Answer:

Bl o n
o T
:L. b Ll
. N o A

'1 -

Candidate Answer: [ NOT ANSWERED ]

Question 24.1If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?
I weh o & MN YT O T@T STt &) 1 Seal 3ot # & HleT-8Y 3l sreat sl ahr & afafares gt 2

N

Options:




2)

3)

4)

Correct Answer:

«

Question 25.In this question, the sets of numbers given in the alternatives are represented by two classes of alphabets as in two matrices given below. The columns
and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and
next by its column, e.g., 'D' can be represented by 01, 13, etc., and 'N' can be represented by 59, 66, etc.

You have to identify the set for the word 'HEEL'

T ¢5q el U HEAT-HHE GaRT o a1 &, ST o fasmeat 31 & Rl ve A feam amam &1 Aot #f e 910 Feam w9 3Rt & o a9t ggrr e arw §, Sy R iy
%tf?rtra’rm—qg’rﬁ’a‘lmlaswamqa%ﬁaﬁrmoﬁ43ﬁuﬂ—q—s’nﬁ5€r9aﬂé%lsﬁmﬁwymﬁqﬁmqﬁmaﬁﬁwmm
a?frmarm%mwasﬁm D' #r01, 13 mﬁaamam‘m:mm%azn N'&¥ 59, 6saﬁmaﬁmmm%|s¢ﬁaw@rmm§mr—a HEEL' ¥ farw
THE Y TETAAT &



TAATRIX | MATRIC

0 i 2 2 q E 6 7 4 =
0 C D 3 F G 5 H K L I N
1 F G c D E & | N H K L
2 D E F G c 7 K L | ] H
2 E F G (= o] g8 L 1 M  H K
ks G C D E F g N H K L 1

Options:
1) 67, 21, 14, 98

2) 75, 88, 65, 01
3) 68, 65, 60, 10

4) 68, 65, 50, 01
Correct Answer: 67, 21, 14, 98
Candidate Answer: 67, 21, 14, 98

Question 26.The term 'Macro Economics' was used by

" g 3rRIEd " (Macro Economics) fse; T YT fohara fafam m 2
Options:

1) J.M. Keynes

S.UH. Feh

2) Ragner Frisch

WR e

3) Ragner Nurkse
i 2

4) Prof. Knight

1. AT

Correct Answer: Ragner Frisch

WR e

Candidate Answer: J.M. Keynes
SL.UH. Fel

Question 27.Who was the first Chancellor of Jamia Millia Islamia University at Aligarh?

3refTe # Feere Sifaar fAferar seenfaar favafaerery & gara erafad Sl 3 2
Options:

1) Abdul Ghaffar Khan

3scel IFHER Wl

2) Rajkumari Amrit Kaur

TSTHFRY 3 HN

3) Hakim Ajmal Khan

REGESGERCCH

4) Sir Sayyad Ahmad Khan

T dg 31EHG Wi

Correct Answer: Hakim Ajmal Khan
gifeheT 35Tae @l

Candidate Answer: Abdul Ghaffar Khan
34@256! ITFPR Wil

Question 28.Who were the patrons of Sangama Literature?

HITA AIfgeT & TI&Th Dt & ?
Options:

1) Nayakas

AR

2) Chandellas

el

3) Pandyas

aisT

4) Solankis

Flerdhr

Correct Answer: Pandyas
qisg



(;andidate Answer: Chandellas
Tt

Question 29.Where in India was the first French factory established?

TR # ugel) Sher thered) shgl TRy 978 o ?
Options:
1) Surat

RGE
2) Pondicherry
qIEeRT

3) Chandannagore
TeeT AP
4) Masulipatnam

Correct Answer: Surat
RIRGE

Candidate Answer: Masulipatnam

S geTH

Question 30.Which algorithm is used to decide the path to transfer the packets from source to destination?

GIdT Tl § TicTed doh Uehel T TAATT et & AT & [H0TT et & fIT o6 g sher=TTa Y ot g fham Sar & 2
Options:

1) Routing

AR A&r

2) Pathing

q

3) Selecting

T

4) Directing

&=

Correct Answer: Routing

At forder

Candidate Answer: [ NOT ANSWERED ]

Question 31.Which one of the following is an ohmic conductor?
Afafad & ¥ stH-grew Sia-arg ?

Options:
1) Germanium

2) Silicon

IBICEIC

3) Carbon

FreleT

4) Silver

ey

Correct Answer: Silver

Candidate Answer: Silver

Question 32.Which mechanism is used by the computer virus 'worm' to duplicate itself?

FeFeT TRNH 'worm' EaRT T &1 Tighed & forw fva g &t et o ST & 2
Options:

1) Swap

|y

2) Increment
3) Spawn
HTeT

4) Swarm

Correct Answer: Spawn
et

Candidate Answer: Increment

=

Question 33.The first Commonwealth Games in 1930 was held in which country?

1930 & YUF TScHSST WAl T 3TANSTT ohe el & v aram e ?



Options:
1) Australia

2) IE}]gIand

3) New Zealand

=

4)(\Ca nada

FelTST

Correct Answer: Canada
FlTST

Candidate Answer: Canada

chedTST

Question 34.The gentle 'seaward sloping' surface from the coasts is called

Tt &, goehl "THg TR ToTleT" Y 97 Fgd & 7
Options:

1) Continental shelf

HeTedIdT el

2) Continental rise
3) AByssaI plains
IEGEIRE:EGI

4) Submarine ridges

FTHALY gl Aol

Correct Answer: Continental shelf
HEIEAI el

Candidate Answer: [ NOT ANSWERED ]

Question 35.The aim of Differentiated Interest Scheme was to provide concessional loans to

TReATcHS ATl TUTST & 3227, 1ot # & Theg RATIIT ol Tkt e 872
Options:
1) weaker section of the society
FHTS & FHSR 37 Hr
2) Public Sector Industries
&7 & 3eiit
3) Public Limited Companies
gfsere farfaes wufaat #r
4) big exports
CEACEICH

Correct Answer: weaker section of the society

THTST & HHSR JaF
Candidate Answer: [ NOT ANSWERED ]

Question 36.Anemometer is an instrument meant for measuring

TRAAHR §, T 7T ehedl & &, FAr AT ST ?
Options:

1) velocity

T

2) air masses
&aT I geIHATA
3) wind speed
gar fr aifa

4) temperature
GISEIGH

Correct Answer: wind speed

gar & 1fa

Candidate Answer: wind speed

gar & afa

Question 37.Tax on inheritance is called

dq% Feafed OX S I AT § 38 FAT Tt © 2
Options:

1) Excise duty

3cyleg &Y

2) Estate duty

KIEEGECTS

3) Gift tax

3UER X

4) Sales tax



TR

Correct Answer: Estate duty
STRICIE Y

Candidate Answer: Estate duty
STRICIE Y

Question 38.The silver coin 'tanka' was introduced by

AIET T TRt ‘ot fohdrsT TerrT 27 ?
Options:
1) Qutubuddin Aibak

LECo

i)allatutmish

g

3) Balban

EEEC)

4) Bahram Khan

A GleT

Correct Answer: Iltutmish
gegataer

Candidate Answer: Iltutmish

gegataer

Question 39.Which of the following international prizes/awards is given for outstanding contribution in the field of Journalism?

o f@a & ¥ FT 67 3RTET AR 7T & &7 7 Hafeas Aerg & fore e s g ?
Options:

1) Oscar Award

HIEHT ERR

2) Booker Prize

FhT TPWERR

3) Pulitzer Prize

9 oTcol IR

4) Sullivan Award

gieeras &R

Correct Answer: Pulitzer Prize

9 oTeoR IIEPR

Candidate Answer: Pulitzer Prize
IfocoR AR

) )

Question 40.The country which tops in the production of cocoa is
IR & ScUTeeT H HioT-T Eer Fa& 39T &2

Options:

1) Ghana

YT
2) Brazil
STofrer

3) Ivory Coast
FEC

4) Nigeria

AT

Correct Answer: Ghana
AT

Candidate Answer: Brazil

STotlel

Question 41.Increased RBC's in the blood leads to a condition called

T # RBC & d¢at ¥ loT-aT Tt o7 S & 2
Options:
1) Anemia

2) Haemophilia
3) Polycythemia
grelAFIT

4) Leukaemia

o

Correct Answer: Polycythemia

ijdidate Answer: Polycythemia



Question 42.The spring balance works on the principle of

FHATAT JoT e FAGTT I 1o el § 2
Options:

1) Boyle's Law

Elpcl

2) Hooke's Law

5 e
) Bernoulli's principle
Feifelr g

4) Pascal's Law

IRl e

Correct Answer: Hooke's Law
g form

Candidate Answer: Pascal's Law
IRl e

Question 43.If there were no gravity, which of the following will not be there for a fluid?

3PN ITHWOT AT A7 8, AT ATl # § Fler-A1 e verd & T e =77 giam ?
Options:
1) Viscosity

e

2) Surface Tension

I5S della

3) Pressure

Eic)

4) Upward Thrust

Fq e

Correct Answer: Upward Thrust

S garg

Candidate Answer: Pressure
cda

Question 44.Calcium salts used as fertilizer is:

3 & T H Pl F FARRIH T T BNt § ?
Options:

1) Calcium Carbide

FioerH FeEs

2) Calcium Carbonate

HiH Fefae

3) Calcium Cyanide

HTRRIH A2

4) Calcium Sulphate

HTRIH Tothe

Correct Answer: Calcium Sulphate
HTRIH Tothe

Candidate Answer: Calcium Carbide

Hiev# FeTes
Question 45.The Jawaharlal Nehru Award is given for

ST g% AR hafat far S g ?
Options:
1) Government service
AIEHRT Far
2) Literary work
(g
3) International understanding
IeRISOT THSTERY

4) Social work

Correct Answer: International understanding
TS THSTERY
Candidate Answer: International understanding

e

Question 46.Which of the following is called 'Queen of the Adriatic'?

AFATITEd # ¥ 'ufgufes & e R Fga g ?
Option_s:



1) velee

2) Rome
A7
3) Flanders

4) Lisbon
IGESC
Correct Answer: Venice

Candidate Answer: [ NOT ANSWERED ]

Question 47.The liberation of oxygen during photosynthesis is due to

TRIRT HLATTUT & STl 3iTereoral fohe RoT faAmRa g g 2
Options:
1) hydrolysis of carbohydrates
T STl 3T9Ees
2) photolysis of water
STel &hT JehIRT 3T9E ol
3) reduction of CO,
CO, T HAT
4) breakdown of chlorophyll
FARITl T T ST
Correct Answer: photolysis of water
STel AT YTl 3T9ecsT

Candidate Answer: photolysis of water
STl ST YehIRT 3TTHCT

Question 48.Formic acid is produced by

HIfFe vfls fFae egRT 3cd=T gl & ?
Options:

1) White ants

e

2) Cockroaches

Frr (farerarem)

3) Red ants

dTer dier

4) Mosquitoes

HBY

Correct Answer: Red ants
dTeT dier

Candidate Answer: Red ants
dTeT dier

Question 49.Which one of the following forms of phosphorus is most reactive?

fArafaf@a & & BErRT T Hla-87 T Ta 317 Tfafranie § ?
Options:

1) Black phosphorus

HTT PITHRT

2) White phosphorus

edd HRAHRE

3) Violet phosphorus

et BrIERE

4) Red phosphorus

TSl BIAHRE

Correct Answer: White phosphorus

23 BIEHRY

Candidate Answer: White phosphorus
dd BEHRE

Question 50.Zubin Mehta is associated with
FeT FedT forw arT § woeafea 8 ?
Options:

1) Literature

=

2) Painting
[BECary

3) Music
Haha



4) Journalism
Correct Answer: Music

Candidate Answer: Painting

Question 51.If 310 x 272 = 92 x 3" then the value of n is

e 310 x 272 = 92 x 3" g1, n T AT TABT ?

Options:
1) 10

2) 12
3) 15

4) 30
Correct Answer: 12
Candidate Answer: 10

Question 52.The radius of two cylinders are in the ratio of 3:2 and their heights are in the ratio 3:7. The ratio of their volumes is :

2 Serett T P & e 3:2 &7 3T & AN 3R Fars 7 3:7 7 A 71 39 HRAAAT Sl 3 TAST ?
Options:
1)4:7

2)7:4
3) 28:27

4) 27:28
Correct Answer: 27:28
Candidate Answer: 27:28

Question 53.The list price (marked price ) of an article is Rs. 900 and is available at two successive discounts of 20% and 10% ; the selling price of the article,in
rupees, is

et I 1 31 e 900 Rs. & 31X a7 20% 3R 10% & FiAF e W 3uaey §1 36 a&] 1 792t 7 e 7o gamsv ?

Options:
1) 640

2) 648
3) 720
4)738
Correct Answer: 648

Candidate Answer: 648

Question 54.A, B and C enter into a partnership, investing Rs. 6000. A invests Rs. 1000 and B and C invests in the ratio of 2:3. Find the profit of C, when the annual
profit is Rs. 2400

A, B3R C Rs. 6000 foarer T HTSTENT 9% 9t 81 A 383 Rs. 1000 F7 fdrer #ar ¢ @91 B 3R C 2:3 & 3iefural # fdrer < §1 afe arftfer amer Rs. 2400 &, at samsw
o C T febciar ot garm ?

Options:
1) Rs.600

2) Rs.1200
3) Rs.1800

4) Rs.1950
Correct Answer: Rs.1200
Candidate Answer: Rs.1200

Question 55.Average of two numbers is 8 and average of other three numbers is 3 ; the average of the five numbers is

o FEA & 3T 8 § 3R 3 e FEamsi v 3 3 &1 et §Ean & 3ited aasu ?
Options:
1)2

2)3



3)5

4)6
Correct Answer: 5
Candidate Answer: 5

Question 56.To make a profit of 20% the selling price of the good is Rs. 240. The cost price of the good is,

Ffe; el a&] T Rs. 240 # ST 9T 20% T AT AT E, Al 38 T &1 5T Hed A DT ?
Options:
1) Rs. 200

2) Rs. 210
3) Rs. 220

4) Rs. 230
Correct Answer: Rs. 200
Candidate Answer: Rs. 200

Question 57.In an examination, 35% of total students failed in Hindi, 45% failed in English and 20% failed in both. Find the percentage of those studnets who passed
in both the subjects ?

Y odieT & 35% o1 fRdr & el gT, 45% oI 336 & et g 3R 20% o1 At Avat & fﬁ»rgtrl 3T oTE 1 yfaed A Hfew st et vy & aTE gU ?
Options:

1) 45%

2) 35%

3) 20%

4) 40%

Correct Answer: 40%

Candidate Answer: 40%

Question 58.A man travels 50 km at speed 25 km/h and next 40 km at 20 km/h and there after travel 90km at 15 km/h. His average speed is

1§ cafFa 50 .. & amr 25 5. ofy gue Hr o T a7 Far & 3R 30T 40 .. amr 20 B 9y gue S 9t § 9 Far ¢ 3 38F 91 90 e
I7ar 15 R, Y. ufY goe Y ol § aF a1 8| 3T 3iad O Far g ?

Options:
1) 18
2) 25
3) 20

4) 15
Correct Answer: 18
Candidate Answer: 18

Question 59.

1 1 1
If x +E¢{)and x3+;= 0 then the value (x + E)‘lis

ﬂ%x+i + 03X x3+x—];=oa’ra’r(x+i)4$rm?raﬂml

Options:
1)9

2) 12
3) 15

4) 16
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

Question 60.

1 1
Ifx + - 2 then x? +Fisequal to



Iﬁ“i = 2.@rar x%%WW gem?

Options:
1)0

2)2
3) 4

4)8
Correct Answer: 2
Candidate Answer: 2

Question 61.The orthocentre of a triangle lies on one of the sides. Then

I et BenroT &7 oa-dheg; forel) Tah ofa X 8,
Options:

1) The orthocentre lies on a vertex
CEECANNECACTE

2) circumcentre lies outside the triangle

IR TR0 & TR &

3) circumcentre lies on the same side

ity 3T o R

4) centroid coinsides with orthocente

Feo o FeE F AT

Correct Answer: The orthocentre lies on a vertex
& ¥ R R &

Candidate Answer: [ NOT ANSWERED ]

Question 62.Three sides of a triangle are 5 cm, 9 cm and x cm. The minimum integral value of x is

Ty TentoT Y ofter ofatre 5 A, 9 Ao, 3 x F.#. §| x & geTad qof 71 TaBU ?
Options:

1)2

2)3

3)4

4)5

Correct Answer: 5

Candidate Answer: 5

Question 63.The value of cos220° + cos270° is

€0s220° + c0s270° &1 AT Al HfaTT ?
Options:

1)

V2

2)2

4)1
Correct Answer: 1
Candidate Answer: 1

Question 64.If 5 person together can make 5 mats in 5 hrs, then 10 person in 10 hours will make

g7 5 FfFd A 5 gue & 5 Tesai 9T TFhd &1 df 10 eaiFd 10 g & fhde Tesam s=mer ?
Options:

1) 20 mats

20 gersar

2) 10 mats

10 Tersar

3) 15 mats

15 gesar

4) 5 mats

5 gergar



Correct Answer: 20 mats
20 gersar

Candida!:e Answer: 20 mats
20 gersar

Question 65.If a + b = 17 and a - b = 9 then the value of (4a2 + 4b?) is,

Ifda +b=173Ta-b =98, ar(4a2 + 4b2) & AT TaBT ?
Options:

1) 710

2) 720

3) 730

4) 740

Correct Answer: 740

Candidate Answer: 740

Question 66.If x +y = V3 and X - y = V2, then the value of 8xy (X + y2) is

I x +y = V3 3R x-y = V2 &, ar 8xy (x2 + y2) &l AT Sd15T ?
Options:
1)6

2) V6
3)5

4) V5
Correct Answer: 5
Candidate Answer: 5

Question 67.The length of a chord which is at a distance of 5cm from the centre of a circle of radius 13cm is

Tl Ot St 1 orrS o gl St 13 F.#f). FBoam arel godt & Feg & 5 QAL Frgraver?
Options:

1) 18cm

18 3.,

2) 24cm

24 7.4

3) 25cm

25 §.#T.

4) 30cm

30 @AY

Correct Answer: 24cm
24 7.7

Candidate Answer: 24cm
24 7.7

Question 68.If the measures of the angles of a triangle are in the ratio. 1:2:3 and if the length of the smallest side of the triangle is 10cm, then the length of the
longest side is

I forefY Fantor & 1ol &1 AT 1:2:3 & Jgard A § 3R Fanior S qad i o 1 oaears 10 AT, §, A 3aE TG ) ${ST T TS ad5T ?
Options:

1) 20cm

20 3.7

2) 25cm

25 {4

3) 30cm

30 &4

4) 35cm

35 &

Correct Answer: 20cm
20 &4

Candidate Answer: [ NOT ANSWERED ]

Question 69.If cosA + cos2A = 1 then the value of sin?A +sin*Ais :

g cosA + cos?A = 1 &, @Y sinA + sin*A &1 #1 garET ?

Options:
1) %

2)



3) %

4)1

Correct Answer: 1
Candidate Answer: 1

Question 70.A sum of Rs. 3000 amounts to Rs. 6000 in two years at compound interest. The interest for four years is

Rs. 3000 1 Tf Ishafey sarst o 2 a & g2ard Rs. 6000 &Y ST 1 TR aef T 2Tt 3R gre ?

Options:
1) Rs.9000

2) Rs.12000
3) Rs.6000

4) Rs.3000
Correct Answer: Rs.9000

Candidate Answer: Rs.9000

Question 71.The angles of depression of two ships from the top of a light house are 45° and 30° toward east. If the ships are 200m apart, the height of the light
house is (take V3=1.73)

ey Sreher - Tt o M & 2 it & 37aTatet 10T g 1 3T 45° 31X 30° §| AT Wi TRER 200 HIER 1 &l R &1 Al ThR-EisT 1 31 IATgT ? (Ig Al gu i V3
=1.73)
Options:
1) 273m
273 =Y.
2) 270m
270 =,
3) 253m
253 =Y.
4) 263m
263 #.

Correct Answer: 273m
273 #.

Candidate Answer: 273m
273 #.

Question 72.This is a pie chart for the data on A,B,O, AB blood groups of 150 donors. Observe the pie chart and answer the questions

fw a7 o1$ = # 150 ST F 5oT3 T A, B, O, AB F et &bt i arm g 197$ A 7 et AT AR gea & 3eaw dfSw)

The number of donors having blood group 'O’ is:

U A3 T HEAT TAST A s ga '0' § ?



Options:
1) 50

2) 42
3) 30

4) 34
Correct Answer: 42
Candidate Answer: 42

Question 73.This is a pie chart for the data on A,B,0O, AB blood groups of 150 donors. Observe the pie chart and answer the questions

faw 1w g e A 150 ST F 575 G A, B, O, AB & 3iTehat &1 arifa a1 § |97 =1 T et Hiferw 3R weat & eax Afso)

The number of persons having either blood group 'A' or blood group 'B' is
Ol et & HEaT TaTsU fSielenl sofs 9 AT Al 'A' g1 91 'B g1?
Options:

1) 84

2) 9%

3) 78

4) 54
Correct Answer: 84
Candidate Answer: 54

Question 74.This is a pie chart for the data on A,B,O, AB blood groups of 150 donors. Observe the pie chart and answer the questions

fw a7 o1 e # 150 ST F 5oT3 T A, B, O, AB F Hfarst a1 i arm 8 197$ A 7 et AT AR gea & 3eaw dfw)

What is the percentage of donor having blood group 'AB' ?
UH AT T FTALAAAT TAST FoieTohr 515 7 'AB' § ?

Options:

1) 61%

2) 26%

3) 16%

4) 36%

Correct Answer: 16%
Candidate Answer: 16%



Question 75.This is a pie chart for the data on A,B,O, AB blood groups of 150 donors. Observe the pie chart and answer the questions

fow 1w a1 A A 150 ST F 575 G A, B, O, AB & 3iTerat &1 arifa a1 & |97$ =1 &7 et Hiferw 3R weat & 3eax Afsw)

The ratio of donors having blood group 'A' to the average of the donors having blood group 'O', 'B' and 'AB' is

TS araTait 7 sof3 9 'A' & 377 3R 3T G & safs 39 '0', 'B' 3R 'AB' § 37 Jirea &, Jequrd A Hifrw ?
Options:

1) 4:3

2) 4:5

3)5:4

4) 3:4

Correct Answer: 3:4

Candidate Answer: 3:4

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

ARDUOUS

Options:

1) FERVENT

2) STRONG

3) ENTHUSIASTIC

4) STRENUOUS

Correct Answer: STRENUOUS

Candidate Answer: STRONG

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

QUIESCENT

Options:

1) IGNORANT

2) DORMANT

3) INNOCENT

4) IMPROPER

Correct Answer: DORMANT

Candidate Answer: IGNORANT

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.

Options:

1) Commemmorate
2) Commemorate
3) Comemmorate
4) Comemorate

Correct Answer: Commemorate
Candidate Answer: Commemorate



Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Beside, writing is my hobby, (A) / I had ideas for a couple of short stories (B) / that needed further thought. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He recommended (A) / my case (B) / with the supervisor (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Her knowledge in English (A) / gives her great advantage (B) / over me. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A
Candidate Answer: A

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Do not your own personal views upon the reader.
Options:

1) expose

2) interpose

3) express

4) impose

Correct Answer: impose
Candidate Answer: impose

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

This school isn't from the last one.
Options:

1) more different

2) any different

3) difference

4) any difference

Correct Answer: any different
Candidate Answer: any different

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I have decided my course of action.
Options:

1) upon

2) with

3) for

4) of

Correct Answer: upon



Candidate Answer: of

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To bury the hatchet

Options:

1) To make peace

2) To dig the ground

3) To negotiate

4) To make war

Correct Answer: To make peace

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Selling like hot cakes
Options:

1) To have a good season
2) To become as planned
3) To have a very slow sale
4) To have a very good sale

Correct Answer: To have a very good sale

Candidate Answer: To have a good season

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Scot free

Options:

1) Unlimited

2) Unpunished

3) To freedom

4) Unrepentant

Correct Answer: Unpunished

Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A thing no longer in use
Options:

1) Illusion

2) Illegal

3) Obsolete

4) Historic

Correct Answer: Obsolete
Candidate Answer: Obsolete

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place where astronomical observations are made
Options:

1) Laboratory

2) Observatory

3) Astrolibrary

4) Astrophery

Correct Answer: Observatory

Candidate Answer: Observatory

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Killing one's sister
Options:

1) Regicide

2) Fratricide

3) Matricide

4) Sororicide

Correct Answer: Sororicide
Candidate Answer: [ NOT ANSWERED ]





